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Attempt All _questlons
| Seétion A |
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| 1. | “Propomhhns are true or false while arguments are- Valld. or mvahd Dlscuss. o 3
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.~ What do you understand by the- connotatlon and ‘denotatlon of a tenn ? How arel the two' -
'-re]ated 7 o i o . : - , 3
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| State the dlfference between sentence and a proposmon : : . _ 3
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: State how through opposmon between categoncal proposmons their truth relatlorts €an bev

defined. L R | | jf“_ 3
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By making a ‘blanket existential presupposition’ we can save the traditional square of opposition. |
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.0 Reduce any four of the following into their logical form : - 4

(@) thy ci_tizens ¢an vote. :
- (b) Girls are not boys.

() Politicians are rarely honest.
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(d) Not every man is ‘p'erfe.ct.
(&) A few doctors are registered.
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Do any mwo of the fo_llowmg as dlrected: S , _ S 4

(@) Al fruits are nutritious. (Converse)

v (b) Somé voters are not educatéd. .(Ob\;efSe) .

(c) No tnangles are square. (Contraposmve) ,
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- following propositions
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~If *All students are schola'rshipholders’ is True, then determine the truth and falsity of the

4

(a): No students are hbn—scholarshipholders.

‘(b) Some non- scholarshlpholders are not non-students.
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‘Detcmﬁne_ the'validlty/mvahdlty of t_he followmg afgu_ment S ) : 6

Not all singers are graduates since some musicians are singers and '1no-musicians- are

- graduates.
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Or
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Majority of- the fruits are tasty foods. So some tasty foods are n'utritioﬁs and all fruits are

nuin'tious

;-mmmwaﬁﬁum wwﬁm{%ﬁaﬁmaﬁ%aﬂzmﬁm

m'ﬁﬁ%l




9.

() A0

10,

sy o 18831

Test the validity/invalidity of any'two"of the folquir;g syllogisms : E ' B 6
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Prove that the minor premise must be affirmative in first figure. c 6
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Or
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In what ﬁgure or ﬁgures if éiny, can a valid .standard fotm categorical sylldgfsm have only:

one term distributed and that too only once ?
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Section, B
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1. Explain and illustrate the v.following_infb'n-nalvf‘alla:c;ies - o j5';< 4420
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Identify and explain which fallacy is committed in any two of the ' following 3 4 10

(). Do you still beat your wife daily ?

. (i) All Indians must be vegetarians because I have met some Indians and all of them were

vegetarians.

(iii) Everybody is wearing friendship bands these days_sd I arin*_ia,_lsc') wearing.
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